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HDCPLERR: (5) 40.0 (%) 40.0 -
HDCPFEE: (5B) -10.0 (%) -10.0

B &2 iR E R 7™ R4 > |GROSS| HDGP | NET B 2 BiE R 7™ R4 > |GROSS| HDCP | NET B 2 BRE R 72 R4 > |GROSS| HDCP | NET

B B vyHD 39 37 16| 7.2| 68.8|kHfEYT7— AL (D vF 41 43 84| 10.8| 73.2 676 | 45 42 87| 10.8] 76.2

EEBH LHA 43 45 88| 19.2| 68. 8|k 7 — L |TALT 47 49 96| 22.8] 73.2 68 |2FHTD 45 48 93| 16.8| 76.2
KT YA 40 40 80| 10.8| 69.2|*HfEy7— 3667 |E LA 43 46 89| 15.6| 73.4 696 |1 HD 55 50| 105| 28.8| 76.2
R A VAN B 42 37 79 9.6/ 69.4|% 3L | AFA 42 53 95| 21.6] 73.4 106 | +H/ 43 43 86| 9.6| 76.4|%
561 |anvy 42 36 78| 8.4| 69.6/% 8L | kHE 47 40 87| 13.2] 73.8 NEL |\ H 43 43 86| 9.6| 76.4
6 |R¥V¥~ 4 37 78| 8.4| 69.6 ML (4454 48 44 92| 18.0| 74.0 26 |vxTH 44 48 92| 15.6| 76.4
ML |2 38 38 76| 6.0 70.0|BG 4062 |A#HEH 45 47 92| 18.0] 74.0% BEL | ZInv s 41 38 79| 2.4| 76.6
8 |3 b= 38 36 74| 3.6 70.4/BG ML |(2HHF 51 47 98| 24.0| 74.0 TAGL (v 47 44 91| 14.4| 76.6
Mz |=+=45F 41 45 86| 15.6| 70.4 260 (N F 48 50 98| 24.0| 74.0 156 [N 51 46 97| 20.4| 76.6
106 |75 38 40 78| 7.2| 70.8|% 3 |2V HE 40 39 19| 4.8| 74.2 1661 |NEHD 49 b3| 102| 25.2| 76.8
1M |EJEH 44 40 84| 13.2] 70.8 M |\ hrF 48 49 97| 22.8] 74.2 T | 794 45 44 89| 12.0| 77.0
1261 | < EH+ 42 42 84| 13.2] 70.8 456 (O FH 41 43 84| 9.6| 74.4 B |[EY 45 49 94| 16.8| 71.2
136 |79/ 45 45 90| 19.2] 70.8 4661 |2 AH 50 46 96| 21.6| 74.4 96 | F27+% 53 47 100| 22.8| 71.2
1462 | FHNT 49 47 96| 25.2| 70.8 412 | EH 47 49 96| 21.6| 74.4 80z | AT F 52 48| 100 22.8| 77.2|%
1561 |A#HEH 37 39 16| 4.8 11.2 4861 |4 XA 38 38 76| 1.2| 74.8 8162 | Hh /4 49 50 99| 21.6| 77.4
166 | XS 49 45 94| 22.8| 71.2 O | hxoF 46 42 88| 13.2] 74.8 826 |\ hO=v 45 47 92| 14.4| 71.6
176 |vT 4 36 39 15 3.6 711.4 5060 |44 48 b8| 106| 31.2| 74.8|% 8L (AU AT 56 47/ 103] 25.2| 71.8
1861 | k& 46 41 87| 15.6] 71.4 5161 | T ow 45 42 87| 12.0] 75.0 841 |1 v < 60 b4 114] 36.0| 78.0
196 | RTA 44 42 86| 14.4| 71.6 5261 |4 =H= 54 45 99| 24.0| 75.0 85 | k=4 42 46 88| 9.6| 78.4
2061 | Y& 43 48 911 19.2] 71.8|% 8L |4 VLT 49 43 92| 16.8| 75.2 866z |TAY 50 6| 106| 27.6| 78.4
206 (DR F 48 42 90| 18.0] 72.0 SAGL (A AN 48 44 92| 16.8| 75.2 81z | AvHa= 50 48 98| 19.2| 78.8
261 |\ H 48 47 95| 22.8] 72.2 55 (A =4HF 46 46 92| 16.8| 75.2 88 |3TH 51 46 97| 18.0] 79.0
260 | = 40 42 82| 9.6| 72.4 56 |ZNEk 47 51 98| 22.8| 75.2 89iL |24 46 48 94| 14.4| 79.6
4650 | AA =D 42 39 81| 8.4 72.6 512 (235 49 48 97| 21.6] 75.4 90K |2+ A 51 b3| 104| 24.0| 80.0|%
2561 |vwHYFE 44 43 87| 14.4] 72.6 98 AT LT 48 49 97| 21.6| 75.4 9N |[YRDT 57 45 102| 21.6| 80.4
2661 S XA = 44 42 86| 13.2] 72.8 591 (U R4A 47 43 90| 14.4] 75.6 2tz |74 60 45 105 24.0| 81.0
2160 |3 44 42 86| 13.2| 72.8 606 | FHhLS 43 'y 90| 14.4] 75.6/% W |#F74 53 b1| 104| 22.8| 81.2
286 |[ER= 41 44 85| 12.0] 73.0 61 |wTHD 49 47 96| 20.4| 75.6 9446 |[wY<EH+ 55 47| 102| 20.4| 81.6
2961 |aHon 48 43 91| 18.0f 73.0 6261 |ES/ 52 43 95/ 19.2] 75.8 95z |Hh o 51 50/ 101} 19.2| 81.8
06 |RRER 45 46 91| 18.0| 73.0/% 63 |/ = 53 54| 107| 31.2| 75.8 9% |ES4 60 52| 112} 30.0| 82.0
3146 | FILA 42 b5 97| 24.0| 73.0 646 |E1 A 40 36 76| 0.0/ 76.0 9761 |EA ¥ 63 60| 123| 37.2| 85.8|%BB
261 ¥ 42 42 84| 10.8] 73.2 654z |HH 45 b5/ 100| 24.0| 76.0 Bz |¥5Hh= 10 b3| 123] 34.8) 88.2
BB | =V LS 42 42 84| 10.8| 73.2 666 | OTF b4 52| 106| 30.0| 76.0 N R |[AA¥T 0] 99.9| 99.9




